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Hadronic channel (ggH)
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ete” +ZH—qqH 210.028 52,507
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ete —qqqq 16200 4,048,386
f-.=+f-:_—}m"qq 16500 4,114,190
ete” =T qq 1590 398,324
ete” —vfti 4450 1,113,076
eTeT Tt 3050 762,973
ete” —qq 141000 35,353,277
eTe” —qg 34000 8,505,840

This is the signal event

Although the number of signal events is
larger than in other processes, the
number of background events is also
larger, and efficient removal of
background events is required.

There are four jets, two from the Higgs
and two from the boson, and it is also
important to correctly select the Higgs-
decayed jet in the reconstruction.
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Hadronic channel Analysis Process (qggH)

(1)Thrust processor is used for signal events.
(2)Reconstruct with 4 jets.

(3)Put data in a root file.

(4)Perform analysis on that root file.

(5)Analyze in the same way in the background.
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hDiJetMass

R It is reconstructed with 4 jets,
Entries 5600 so the peak is at 250 GeV.

Mean 215.6
Std Dev 31.41
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A-jet sorting

The jets were chosen so that x?2 in this equation is the smallest.
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Type of Cut

CM energy (GeV) 250
Cut names condition Sig. Bke.
(Generated 5250745904900
V2 yv2 < 10 32447| 2608980
# of charged tracks Nopa =4 25281 1120950
Yq4 value —log(Y54) = 2.7 |25065| 1002125
thrust thrust < 0.9  |24688| 935950
thrust angle | cos Binruse| < 0.9 (21892 696201
Higes jets angle 105" < Hy < 160720062 622143
Z di-jet mass (GeV) | 80 < Mz < 100 |16359] 411863
I di-jet mass (GeV) | 105 < My < 130 | 16359 411863
Likelihood ratio LR = 0.375 13726 166807

Significance [Efficiency) S/VS+B 32.3 (26.1%)

These are the cuts in this issue of the
Hadron Channel.

made the cut this time y squared
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Cuts were made with a y -square of this equation less than 10.
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Consider that electrons and positrons drop photons before collisions

To account for energy loss before impact

The following sentence was added to the Jet Clustering steering file.
<parameter name="]etClustering.AlphaParameter" type="double" value="1.3" />

Change this parameter from 1.0 to 1.6 and see the distribution of each.
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Alpha parameter change result 1 to 1.3
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Alpha parameter change result 1.4 to 1.6
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As the parameter increases, the number of locations above 140 GeV

gradually decreases.




Next

- Make all cuts in the hadron process



Sack up



count

Another pattern H=Jet(1,2) Z=Jet(3,4)
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